EwE 94 6-1

>> g=tf([1000],[1 10 OD)

Transfer function

1000

sN"2 + 10 s

>> bode(Q)
>> grid

T---

1|
-
.
[N
1

(.

1

[N
1

1

[N
1

ol Il o I B
[}

|

N
L _l1L_L111

>> g=tf(1000*[1 1],conv([1 10],[1 100]))

Transfer function

1000 s + 1000



s”2 + 110 s + 1000

>> bode(Q)
>> grid
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>> g=tf([10000]

1on

Transfer funct

10000

s"3 + 2 s”2 + 100 s

>> bode(Q)
>> grid
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>> g=tf([4],.[1 2 1 0])

Transfer function

sN3 + 2 s™2 +s

>> nyquist(g)

>> axis([-4 0 -2 2])
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>> w=logspace(-2,2,200);
>> g=tf([4].[1 2 1 O])

Transfer function:

sN3 + 2 s™2 +s

>> [re, im]=nyquist(g,w);
>> for i=1:200
rel(i)=re(1,1,i);
iml(i)=im(1,1,i);

end

>> [w" rel® iml*®]

ans =

0.0100 -7.9984 -399.8800
0.0105 -7.9982 -381.7830
0.0110 -7.9981 -364.5039
0.0115 -7.9979 -348.0058
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A 6-6
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>> g=tf([1 1],[0.1 -1 O])

Transfer function:
s + 1

>> sisotool (g)
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GM.: 6.02e-015dB
Freo 3.16 rad/sec
Unstable loop

Pl O deg
Freo 3.16 rad/sec

>> g=tf([1 1],[1 0 O])

Transfer function:
s +1

>> nyquist(g)
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>> g=tf(10"5*[1 0.1],conv([1 10],[1 200 10000]))

Transfer function:
100000 s + 10000

s”3 + 210 s”2 + 12000 s + 100000

>> bode(g)
>> grid
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